EARAROBREBRT —5 XN—ZXBISH—F

2023568198 (B) 4EIKIR5H

2R [P BRI
[x&%] 17&:350,000 ™  23#&:123,000 W  3#&:70,000 ™ . 43%&:46,000 ™  53&:25,000 H
B % B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
Sy~ LUAEREE . - . - BWE— KR
117 7| NV VIR=T 5159 %1_? o *7 ! f_937) S ’
RibE—Ra—F— BNSREYR HET 7 — L
=i " - EHE (R
F—AF7I— o4 5'_’4,.“6 (2511./42) 33 |35.6 2 (4+228) ggég K3R)
R:F4—FTUSYT BAIYFPYRF—R F—L— - Iv/tY - T7—LERE
I=T4vIITUT o4 | ERRE (51.8) 44 362 - | 4 | 44 *%EI%;%(E (BER)
: 2172 SR
RiZ2bOVIUI—Y §:YUVTSR 7 WA A
AHIASF 4T = b A et 5(2.)1 66 360 — | 6 | 430 %}jg? KR
= — . 2 /N
R h—tYVI—TY BNINIITELY &) =5 s
=T— 4 4 | BFE 52.1 1-2 371 - 5 31 | =HZE KR
f? ?JKI_JLI ey = 5.0 (F9I) @) | @ 77TV
RFRIAVL—Y B:AEUY hFaT 4 L
611117y bxou— v 9 EL’%ZLSHE@ (52.4) 44 1369 - | 3 | 4% EEEEMR)
. 13/4 u =
RAVT I RF—T— R~ K B YRV TFST R LN
S5r— 5 | ERAEE 52.8 7-7 3.5 - 7 | 437 |{EEEEE] (KR)
715! 5 /7\.|:|‘ZI:77'7 o a0 61 o) | 179772 @)
Ry I—9III B:F—TARSEY ~ DS
® 11— —@BIEfI
1J—3—
Adl=5r=
330—7F— |6,7,3,(1,4),2,5
43—7+— |(7,6,3,(1,4),2,5
@ IhR=E
B B 7 1508 | | DA & 3-7 110 55 = 3-7 180 3iEE 3-4-7 660
B B 7 1003 4-7 230M 55 H 7-3 330 EL| 7-3-4 1,410
3 1104 34 330M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



